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Kelly is going to buy some tiles for the kitchen floor.
She needs a total of 36 tles.

Kelly designs a pattern with black tiles and white tiles.
‘The pattern has black tiles and white tiles in the ratio 1:3

Kelly works out that she needs to buy 9 black iles.
(b) Is Kelly correct?
Show why you think this.

Show a check of your working.
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Mahir is the cleaner at The Palace restaurant.
He is going to clean the floor with a mixture of floor cleaner and water.

Mahir knows

*  touse 30 ml of floor cleaner for every 1 litre of water
* 1 capful of floor cleaner is 20 ml.

Mahir puts 4 litres of water in a bucket.
He thinks he needs to add 5 capfuls of floor cleaner to the water.

Is Mahi correct?
Show why you think this. @ Q o





